010 00000000040, d
Juoodootdoo - gdo

HEREEN

00000O00OoOo/oob0o0ooooooo (CPS)

20150 20 150




Joogooguod

o JULIIDIDUO ~OOOOOOLDLODLOOO

Wa - VA
0

q =

o w,: OO, N:00O0DODOO,p: 00
e JUDDDDODOO g=w,/h, hOODODOODO.

e 0 (DDO)ODODOIDODODOODODODOOO

o JOOODO
o HUOUOUODLDLODLOOOOODLDODO

000 (oooo) oooooo 20150 20 150 2/4



Juoodootdbood

e 00000 :00000000 6=T(p/p)*
e UDOOD :000000

1
2 x v~ —=Vp
P

e JDODOODO :0OODOODOO
1
—Q- Vo~ —5VpxVp
p

e JUUU=00ODLOOOOOOO
goboobooobgobuoboboon

Q-Vo~0

000 (oooo) oooooo 20150 20 150



Juoodootdbood

e JUOODDO :OOLODODLDLOOOOODO

Lr=—— f=20singp

o LyOUUDUOUDLUD =000000DOO0
o Ly00OUIDOUO =00000000

o JUDDODN

o HUUUUDLDLODOLUOUOUODLD :0OU0DLDbOLOO
e (DDODDO)DODODDOUULUDDDODODO

000 (oooo) oooooo 20150 20 150 4/4



